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1 38 TS T @ET 36 FD° HH-A1 g 82

(A) TR )R ELEIEED
(C) Tisare® (D) ANMgIaTS
(E) a9
2 fmfafaa 5 srfaarees g@3m T 3ame -
(A) T (B) TEA
© s (D) @
(E) raid 9
3 g o fohae T wE B &2
(A) @ (B) o+
<o = (D) 313
(E)  3Taied o1
4 Down’s syndrome is caused due to trisomy of -
(A) Chromosome 11 (B) Chromosome 21
(C) Chromosome 01 (D) Chromosome 14
(E)  Question not attempted
e fargm T THTTRIEIT o SHROT &Yl 2
(A) TOEA 11 (B) U 21
(©) TUEA 01 (D) T 14
(E) a9
5 Out of the following which contrasting character was not selected by Mendel for his hybridization experiments

on garden pea?

(A) Colour of flower (B) Colour of seed
(C) Position of flower (D) Shape of root
(E)  Question not attempted

frfafiad & & & & forodia Tt 2T, 7t (TS oY) W HSeT ST 319 HeRtoT ST # SURART T fohat T or?

(A) TEHTT (B) sistwrar
(C) g feufa (D) TS &I ITHR
(E) 3rgaid 9
6 Which of the following is not a reason to produce transgenic animals?
(A) To test toxicity safety (B) To make somatic hybrids
(C) To obtain biological products (D) To study how genes are regulated

(E)  Question not attempted

frfafiaa o @ s o1 aRs(iT (Ziest{en) Siq sl Sca= ST 3T T T8 &2

(A)  STTISTCIT GREAT T TIToT i o fofu (B) Ik Gert ST o feTg

(C)  Sifere 3cdte ITH A & fag (D) S i fopw StTa €, geert steaem & o fag
(E) Srfaiawd
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7 Which of the following pyramid’s is/ are never inverted?
(A) Pyramid of biomass (B) Pyramid of energy
(C) Pyramid of number (D) Pyramids of biomass and number

(E)  Question not attempted

fafafea 4 9 % @ fifie #ft oft sae 7 a2

(A)  STagmET (SmEmTE) w5 e (B) Sl ol ffHE
(C) wE = fifire (D)  Sfiemmr K e & fifre
(E) raid 94
8 Which of the following directive principles in Indian Constitution requires the state to organize village

panchayats and endow them with necessary powers to enable them to function as units of Self Government.?
(A) Article 38 (B) Article 39

(C) Aurticle 40 (D) Article 42

(E)  Question not attempted

IRA o wferem 7 Frforiiad & @ forg e fgia o STam Tsa &1 O T=d 1 618 i 371 3we Eamima
1 SIS o &9 H e L | G T 6 10 Strarvarehs wifth JaM i 82

(A) 3T 38 (B) TR 39
(C) TR 40 (D) TR 42
(E) Srfaiayy
9 Which of the following Committee suggested the incorporation of eight fundamental duties in the Constitution
of India.
(A) Verma Committee (B) Swaran Singh Committee
(C) Dutta Committee (D) Gokhale Committee

(E)  Question not attempted

T o fop w3 sefter wiferem o @173 wiforen sheiedl ot RTTHS St o1 QT foT om?

(A) =i @i (B) At fiw wfif
(C) eaTHmfd (D) TRE |fufd
(E) i@ yy

10 Who was the Chief draftsman of the Indian Constitution in the Constituent Assembly? (Choose the most
appropriate option from below:)
(A) SirB.N.Rao (B) H.V.R.Iyengar
(C) S.N. Mukherjee (D) Prem Behari Narain
(E)  Question not attempted

T {1 7 WA % ST % e TRaeRR i 47 (refctiad o 8 goi 3uh foshed 1)

(A) WHAETE (B) TH T IR IR
(C) | T St (D) 3w forerdt AR
(E) orfaiaug

11 frefafea § g + ke frafa -
A) g B) ¥
©) g (D)
(E) a9

P12] © 3 [ P.T.O.



12 Trfaiaa & o] aeey §H1E ol T IS 8-

(A) T (B) &
(C) oM (D) ISH
(E) Srgaiaug
13 IAra H i 91 9 22
(A)  TIIVE (B) dcqed
(C) wEsife (D) HHURT
(E) raid 94
14  Which of the following is the highest peak of Aravali range in Rajasthan?
(A) Ser (B)  Gurushikhar
(C) Dilwara (D) Rishikesh

(E)  Question not attempted

frafafaa & 9 et ydaqTeT o ged =T e Ha ar 22

(A) W (B) TRRTEX
(C) feemarer (D) SRS
(E) orpaiaug
15  Khetri Bansyal Conservation reserve is situated in which of the following place of Rajasthan?
(A)  Jhunjhunu (B) Kota
(C) Bhilwara (D) Ajmer

(E)  Question not attempted

W Fifermer gieqor fiste fmforfiad 3§ & TS o shiT 8 € T 3Tafeerd 22

A L (B) @rT
(C)  vficraret (D) TR
(E) Jaid o=

16  Which is the longest river of Rajasthan?
(A) Mansi (B) Kali Sindh
(C) Parvati (D) Chambal
(E)  Question not attempted
TSR 3T Fadl et FdT SH-ET 82
(A) W= (B)  hreit f&er
(C) rddr (D) <A
(E) Srgaiaug

17  Chitrashala Art Gallery is situated in which of the following place?
(A) Jaipur (B) Kota
(C) Bundi (D) Bikaner

(E)  Question not attempted

Femrere shanr-aelt fmfarfiaa o @ fore worm o fega 22

(A) AT (B) @IaT
(C) (D) M
(E) Srfaiayy
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18  What is the rank of Rajasthan in milk production in India during 2022-23?
(A) Second (B) First
(C) Third (D) Fourth
(E)  Question not attempted
A 2022-23 % STFH G IcATE H TSI HT W H hi AT T &7

(A) (B) el
(C) drex (D) =t
(E) Srfaiaug

19  Which part of ashvagandha plant is mainly used to make medicines?
(A) Leaves (B) roots
(C) flowers (D) pollen grains

(E)  Question not attempted

ST AT o ToRd YT 2l FaTSAT ST o6 ToTT J@ad: STNT fora SIT 8

(A)  dfeEr (B)
C) B (D) ORT - 0T
(E) Srfaiayy

20  Which of the following is not an application of Blood group inheritance? (Choose the most appropriate
option)
(A) Solution of parental disputes.
(B) Treatment of neonatal blood hemolysis.
(C) Treatment of hereditary disorders, like hemophilia.
(D) Treatment of infection of HIV-1 and HIV-2.

(E)  Question not attempted

frefctiiad o & =i Ffe - ot st o1 TSR T2 & - (W 3 forshed i1 = )

(A) SR farTet ot gETeT (B) A st femiferfer =1 Su=im
(C) femifpforen S& staifire @i =R (D) HIV-1 3R HIV-2 H5hH0T 61 STER
(E) raid 9
21  Successions that occur on soils or areas which have recently lost their community are referred to as -
(A) Primary succession (B) Secondary succession
(C) Lithoseres (D) Priseres

(E)  Question not attempted

o STTSHHOT ST W T AT &1 H 9T S & STel 81 &1 § 310 §Har il @i €, 309 Hahiq e ¢ -

(A)  SfireR ST (B)  fade srgsrmr
(C) icTshwh (D) YTehshTh
(E) 3rgaid 9
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22 P+ Q means P is the brother of Q
P x Q means P is the mother of Q
P — Q means P is the son of Q
P + Q means P is the husband of Q
Which of the following indicates that ‘A is the nephew of U’?
P+Q&F AR TP, QA WE R
P x Q & areqd & foh P, Q it arar &
P-Q& A efF P, QF TR
P+Q Hacd 2fF P, Q wrufd?
ffeRad & & 9 8 Gohd 3aT 2 foh A, U %7 wielier 22
(A) A+NxK+H+U B) A-NxKxH-U
() A-N-KxH=+U D) A+N+KxH=+U
(E)  Question not attempted / iﬂaﬁ'ﬁﬁ 99
23 Arrangethe following words as in dictionary and then choose the correct sequence from the given alternatives-
= faw TU S15aT ol YTeahIY o A W TG 3T I 7T forerea ® & T 351 31 =19 il
L. MABELA II. MABUSE
. MABLE IV. MABEPEARL
Choose the most appropriate answer from the options given below:
i fa o fereredt & @ watfires 3w o = A
(A) LILIOLIV B) ILIO,LIV
© LIV, IOLa (D) NOLILLIV
(E)  Question not attempted / 31'@'&?{ I
24  Choose the most appropriate option to fill in the blank:

Rita didn’t see me wave to her. She in the other direction.
(A) islooking (B) looked
(C) was looking (D) has been looking

(E)  Question not attempted
25 Choose the most appropriate option to fill in the blanks:

The accident victim by the time they him to the hospital.
(A) was dead, rushed (B) had died, had rushed
(C) wasdying, rushed (D) will be dead, have rushed

(E)  Question not attempted

26  Choose the passive form of the sentence given.
A thief stole my dog and brought back only when I offered ¥ 5000 reward for him.
Choose the most appropriate option from below:
(A) My dog was stolen and brought back only when a ¥ 5000 reward was offered.
(B) Ioffered a¥ 5000 reward for the thief only then my dog was brought back.
(C)  Only when I offered a reward of ¥ 5000, my dog which was stolen brought back.
(D) A thief brought back my dog which he stole when I offered a reward of ¥ 5000.
(E)  Question not attempted

P12] © 6 [ P.T.O.



27  Choose the word most similar in meaning to :

PROSCRIBE
(A) Prohibit (B) Permit
(C) Appease (D) Prolong

(E)  Question not attempted
28  IBM system/360 is an example of which of the following?

(A) Second Generation Computer (B) Fourth Generation Computer
(C) Third Generation Computer (D) First Generation Computer
(E)  Question not attempted
Tgsfn TUTTel/360 T 5 & forerenT 3aret =2
(A) UHTS SR HF (B) e S et
(C) oIS TARH HFAR (D) WE SARH HFX
(E)  3Tgaied o=
29  Which of the following unit of the processor monitors and gives proper instructions to all parts of the
computer?
(A) Memory unit (B) Control unit
(C) Input unit (D)  Arithmetic and logic unit

(E)  Question not attempted
TEEL T frferiiad § @S-8 318 sveget o vt feem sht ARt st € 3T 3w 3fea fader adt &2
(A) HEH e (B) WA
(C) FIEIM (D) SARerfess Td qite g
(E) a9
30  Which of the following is a fat-soluble vitamin?
(A) Vitamin A (B) Vitamin Bg
(C) Vitamin C (D) Vitamin B,
(E)  Question not attempted
Tt o & i forerfim e o gereiter 22
A) foafma (B) faerfm By
(€) faafimc (D) fyef@B,
(E) raid 9
31 IUPAC name for the following compound is :

(A) 1-Butene (B)  2- Propyl-1-methane
(C) 2-Methyl-1-propene (D) 2-Pentene
(E)  Question not attempted

= few T Aifirek 1 TUPAC 9 2:

(A) 1- &’{éﬁ? (Butene) B) 2- BRI (Propyl) -1 - o (Methane)
(C)  2-Afe (Methyl) -1 - T (Propene) (D) 2 -UdIT (Pentene)
(E) Srgaiaug

P12] © 7 [ P.T.O.



32

33

34

35

36

37

38

The most stable ‘Fullerene’ is -

(A)  Cso B) Cq

©)  Ceo D) Crpo

(E)  Question not attempted / \’ﬂflflﬁ_cf I

Which of the following is correct in regards to RAM?

(A) non-volatile, temporary (B) volatile, temporary

(C) wvolatile, permanent (D) non-volatile, permanent

(E)  Question not attempted

W o "y # ffaied 5 9 & 98 82

(A) T afctersd, Srat (B) dToiaTsd, PRl
(C) diciersd, THiH=< (D) - AT, THHE
(E) 3Tl o1

A valid formula in Excel begins with -

TR H U Afere wrar ford & T S &2

A) + ®) =

© # D) @

(E)  Question not attempted / ﬂ@ﬁﬁﬁ 99

The design that regulate the layout and formatting for the slides in power point presentation, are known as -
(A) Design plates (B) Templates

(C) Placeholders (D) Blueprints

(E)  Question not attempted

TTeR, 15 RCAIhaT H Teh TSSITE St 137132 ohi FHRPIa ST EeiTgel o foTe SRATT T 2, i e o:-

(A) feomsiem (B) Hwie®
(C) wHeesH (D) = foiem
(E) a9

frafafaa & & wfe wog &1y fereres o1ef & 2 <t -

A) fE (B) @4

©) U (D) TR

(E) Srpafiaug

ITIhTed e I15g ‘3T T Uk 7 -

(A) (B) N

© =4 (D) ™

(E) rJaid 9

16T I 37 - 368" o foTq Hrer 37 Bh-

(A) e -8 (B) 37& - faw
(C) A - q1EA (D) fofw-sme
(E) Srgaiaug
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39  Which of the following is NOT an input device?

(A) Touch Screen (B)  Scanner
(C) Mouse (D) Projector
(E)  Question not attempted
Freaferfiaa i & 2 a1 gge e 781 22
(A) TTTHR (B) THK
(C) =™ (D) TN
(E) 3rgaid o
40 A tool used for operating industrial robots, playing computer games and training flight simulators is called:
(A) Keyboard (B) Joystick
(C) Light pen (D) Mouse

(E)  Question not attempted
T U I TR TSI oh T, I T o Tell T FTge H HIRTET0T STTEIh! o ST o & H TIh
T & AT & -

(A) e (B) SHfe®
(C) wmEH (D) #="
(E) a9
41  In which referencing, the cell reference does not change while copying the formula?
(A) Cell referencing (B) Absolute referencing
(C) Relative referencing (D) Mixed referencing

(E)  Question not attempted

(A) O frife (B) TmHEIqte Fepif
(C) frifea frpifer (D) Tirres frpifem
(E) raid 9

42  Which of the following is a smallest data unit of a computer?
(A) KB (B) GB
(C) Byte (D) Nible

(E)  Question not attempted

freaferfad § & i dhrege i T 2rer e 22

(A) et (KB) (B) fisft (GB)
(C) T (Byte) (D) st (Nible)
(E) 3rgaid o
43 -1 % A GEA-11 1 e i
-1 (ST Ft-11 (VTeieh 91e])

a. 3G H I AH L 3

b. ST ¥ ufeqof I SR

c. TETEEH L. 3

d. fEsigsT=m V. 3&d
it faw 1T foehedt 7 @ wafferes Iug ST TR HINT;
(A) a-TLb-1V,c-1,d-1I (B) a-ILb-Lc-1V,d-1I
(C) a-IV,b-MLc-Id-1I D) a-Lb-MLc-IV,d-1II
(E) Srfaiays
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44 TR 3 37 o fore foRe TRTe T SR e 22

(A) 3N 1 el (B)  ST&LITEHT
(C) oFh T (D) =T
(E) 3rgaid 9
45 o o fore St 3 forer wTeg ot ST forarm ST 22
(A) Circular (B) Order
(C) Reminder (D) Memorandum
(E) raid 9
46  Who presented Rajasthan state budget of 2024-25?
(A) Jogaram Patel (B) Kirodilal Meena
(C) Bhajanlal Sharma (D) Diya Kumari

(E)  Question not attempted
Y 2024-25 TSTET TS T TS ToheT S TohaT 2

(A) SR vt B) TRIarTer Hiom
(C) ST IMT (D) T FAN
(E) 3rgaid o
47  Which Indian athletes is known as the ‘Queen of Indian Track and Field’ or ‘Golden Girl’?
(A) Sunita Rani (B) Kamaljeet Sindhu
(C) Krishna Punia (D) P.T. Usha

(E)  Question not attempted

freafefaa & o foha wRed werefie @t IRt 3o 3T fies it TP AT “Tiee el o 919 & STHT ST 82

(A)  GHrar Tt (B) AN @Y
(C)  Fmyfar (D) Wz
(E) aid 9
48 ‘NAMASTE’ scheme, is related to which one of the following group of workers?
(A) Construction workers (B) Health workers
(C) Agriculture workers (D) Sanitation workers

(E)  Question not attempted

THE AT HFTTREd AHe! & foh shiHa & Helerd 82

(A) Trmfor sifde (B) TaTEH HIHeh
(C) FMNFfiw (D) Ta=adT Hiftieh
(E) 3rgaid 9
49  FEATR oAl o STeieRg § e # 9 fore 3158 o1 YRR foRarT ST 82
(A) Qard (B) W™
(C) ekt foraret (D) frer
(E) a9
50  Choose the most appropriate English translation of the given sentence.
T 0 I T A 2N
(A) When did you sleep at night? (B) Do yousleep at night?
(C) What time do you sleep at night? (D)  When did you go to sleep at night?

(E)  Question not attempted
P12 ] @ 10 [ P.T.O.



51

52

53

54

55

56

Choose the most appropriate option for the reported form of the given sentence:
“Read it for yourself if you don’t believe what I say”, he told me.

(A) He told me to read it for myself if I didn’t believe what he said.

(B) He asked me to read it himself if | was not ready to believe.

(C) He suggested that I read it since I didn’t believe what he said.

(D) He told me to read it as I didn’t believe what he said.

(E)  Question not attempted

Choose the English word for the given word.

LERIERECEEIN
(A) Restricted holiday (B) Casual holiday
(C) National holiday (D) Gazetted holiday

(E)  Question not attempted

Choose the most appropriate word for the given sentence.

A person who is incharge of the objects or works of art in a museum.
(A) Credulous (B) Cartographer
(C) Curator (D) Calligraphist
(E)  Question not attempted

Choose the word opposite in meaning to :

DISHEVELLED
(A) tidy (B) untidy
(C) confident (D) jovial

(E)  Question not attempted

Choose a word nearest in meaning to the underlined word.

The convict’s ingenuous explanation brought tears in everyone’s eye.
(A) insincere (B) secret

(C) naive (D) clever

(E)  Question not attempted

Letx = {1,2} and y = {1, 2, 3}. How many different functions are there from x in to y?
HET x = {1,2} 3Ry = {1, 2, 3} x ¥ y R Faa fir=-fir s &
(A) 3 (B) 6

© 8 D) 9

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
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57  Aman starts a business with ¥ 40,000. After 4 months, Bhanu joins Aman with ¥ 20,000. Find their profit

sharing ratio after one year.

3FF R 40,000 o BT T ETT I[& AT €] 4 HEH o 18, Wi X 20,000 o HTY ST o HTY TS ST & TF a9

o 3§ M1 o T T TN 14
A) 2:1 (B) 3:1
(C) 4:1 (D) 5:1

(E)  Question not attempted / ﬂaﬁﬁﬁ Iq
58  To complete a certain task 15 men take 10 days working 12 hours a day. How many hours a day should 10

men work to complete the same task in 20 days?

Torel! TRl ohT o1 ST B T 19 | 12 ¥i¢ 3t hteh 15 STk 10 ToT 36T w0t ol &1 36t 3l o 20 oAl o or ot
o fAT 10 Sfrat ol Te T o forae =ie s ot =few?
(A) 8 ®) 9
€ 10 (D) 11
(E)  Question not attempted / H@ﬁﬁﬁ Iq
59  Who is the chief architect of the construction of ‘Ayodhya Ram Mandir’. (Choose the most appropriate
option from below:)
(A) Ram Sutar (B) Jagmohan
(C) Chandrakant Sompura (D) Arun Yogiraj

(E)  Question not attempted

“3FTeT T |G o Fmior o e areqer i €2 (e 3 & el 37 forshed 91:)

(A) THHEAR (B) SATHIEA
(C) =ishia | (D) STET AR
(E) raid 9
60  Who was the Chief Election Commissioner of India during 2024 Lok Sabha Election?
(A) Rajiv Kumar (B) Gyanesh Kumar
(C) Naveen Chawla (D)  Sunil Arora

(E)  Question not attempted

2024 Tk FT AT 6 S, HRA o T&T I SR i A?

(A)  TSfa FAR (B) IFRIFAR
(C) Tl =TareT (D) THia 3R
(E) Srfaia sy

P12 | @ 12 [ P.T.O.



Read the given passage and answer the questions that follow: (Q. No. 61 to 65)

61

62

63

New Delhi: Whether it is playing chess online, ordering food on a delivery platform, interacting with bots for
reponses to queries, triaging patients or creating deep fakes, Artificial intelligence is now entrenched in
modern life. It isn’t surprising then that universities and research institutes are carrying out extensive studies
not only on the application of Al in multifarious disciplines, but also on the impact the technology has on
lives. At the Yardi School of Artificial intelligence in Indian Institute of Technology, Delhi, studies are being
conducted on building Al algorithms that can be used for different applications- a dialogue system where
patients can talk to an agent about patient history, machines that can interpret ultrasound images and CT
scans and systems to predict cyclones early. The range of studies is extensive.

A lot of the studies at Yardi School are also assessing the existing Al algorithms to plug gaps and social
biases present. Abhijan Chakraborty, assistant professor, [IT-D, said, “While these days, the hype is around
ChatGPT, there are other kinds of algorithms that are already in practice. For instance, when one applies for
a loan, banks use a model in which data on the customer generates a sense of how risky the loan will be. In
many of the contexts used for Al, it was found that the algorithms tend to be unfair to marginalized groups
because there might not be much data available and the model automatically assumes that the person is a
potential defaulter.”

Chakraborty talked about its use in the judicial domain. “People are using a sort of predictive tool to determine
how likely a person is to commit a crime if released on bail,” he pointed out. “A study showed that it was
highly biased against African Americans with even those who hadn’t ever committed a crime being classified
as high risk.” It is because of these drawbacks that Chakraborty said the studies at Yardi School “aim to
create algorithms that are fair across diversities, ethnic, religious, linguistic or gender”. “We mean to rectify
anything that directly impacts any particular group,” said the assistant professor.

Scientists are aiming to create an unbiased algorithm-

(A) To study the impact of technology on human liver

(B) To bridge the gaps and remove social prejudices

(C) To study about potential defaulters

(D) To start a dialogue system for future patients

(E)  Question not attempted

A set of rules that must be followed when solving a particular problem is .

(A) Artificial intelligence (B) Multifarious disciplines

(C) Chat GPT (D)  Algorithm

(E)  Question not attempted

Match List-I with List-II

List-I (Words) List-1I (Meanings)
a Entrenched L ability of show future happenings
b. Marginalised II.  established strongly
c Predictive II.  People that share the same cultural traditions
d. Ethnic IV.  with not much say in important matters.

Choose the most appropriate answer from the options given below:

(A) a-Lb-IlLc-1I,d-1V B) a-1V,b-Illc-1I,d-1
(C©) a-MLb-ILc-IV,d-1I (D) a-IL,b-1V,c-I,d-1I
(E)  Question not attempted

P12 | @ 13 [ P.T.O.



64  Match List-I with List-1I

List-I (Fields) List-II (Application of AI)

a. Medicine L Predicting natural catastrophies
b. Banking II.  Identifying Potential criminals
C. Criminology III.  Interpreting ultrasound images
d. Meteorology IV. Disbursing loans

Choose the most appropriate answer from the options given below:

(A) a-II,b-1IV,c-1I,d-1 B) a-1V,b-Llc-1,d-1I

(C©) a-ILb-Lc-1L,d-IV D) a-Lb-I,c-1V,d-1I

(E)  Question not attempted

65  Identify the drawback of using Al extensively according to the passage :-
(A) A bot will take down the history of patient.
(B) Biasness against certain sections of people due to lack of information.
(C) Natural catastrophics can be averted due to timely alerts.
(D) Takes care of loneliness by providing online companions.
(E)  Question not attempted

66  TTaiad & Y& AT I a8 &-

a. ol b.  JTER
c. Ha d. LIS
e. B‘TI@?F
et o T forshedt 7 @ warifares 3uge SO = HifVT;
(A) Hada, b3 (B) wadb,d e
(C) waADb, c 3R d (D) wada,c3e
(E) a9
67 Tmfafea 7 v fafea a2
(A) T8 ST T (B)  STeRT IR AT ¥ &1
(C) ©IT ¥ 13 @ &I 1l (D) T ST AN
(E) Igaid o=
68  Who was the Governor General of India when Awadh was annexed by British?
(A) Lord Cornwallis (B) Lord Dalhousie
(C) Lord Velejali (D) Lord Canning

(E)  Question not attempted

ferfesr grar o9 3 oo™ 3 98T IR 1 T SRS i 912

(A) IS HHaTa™ (B) e oSt
(C) IS detsteft (D) e HF
(E) Srgaiaug

69  Which one of the following Articles of the Constitution of India provides the information about the functions
of Rajasthan Public Service Commission?
(A) Article 312 (B) Article 316
(C) Article 320 (D) Article 317
(E)  Question not attempted

WA o Hie &1 Frfafad § & 19 A1 S8 TSE™ @i ST ST & HE o (o0 § STHwR ST 22

(A) 3FT=E 312 (B) =4 316
(C)  3FT=e 320 (D) 3T=BE 317
(E) Srfaiauy

P12 | @ 14 [ P.T.O.



70  According to which Article of the Constitution of India, the Chief Minister is appointed by the Governor of

a State?
(A) Article 163 (B) Article 164
(C) Article 165 (D) Article 166

(E)  Question not attempted
IR o TleT & forey 3T o STET et <A Fafh T ok TrsaaTer gr i St 22

(A) 3FT=E 163 (B) T=% 164
(C) SAT=% 165 (D) 3T=T 166
(E) IJaid 9%

71 was the first state to establish Panchayati Raj.
(A) Gujarat (B) Rajasthan
(C) Uttar Pradesh (D) Punjab
(E)  Question not attempted

ST TS TATIUT St 1T IRt TS AT?

(A) TSA (B) USEIH
(C) WY (D) U
(E) i yy

72  Geendar dance is associated with which region of Rajasthan? (Choose the most appropriate option from
below:)
(A) Barmer (B) Mewar
(C) Marwar (D)  Shekhawati

(E)  Question not attempted

Tfiag et o1 Heler TSE™ o fohdt & & 82 (et o § Hor S forehed 1)

(A) ST (B) HaTS
(C) HwHrETe (D) YEET
(E) a9
73  Who among the following was the follower of Nirgun worship? (Choose the most appropriate option from
below:)
(A) Ram Charanji (B) Meera Bai
(C) Dadu Dayal (D) Ratan Singh

(E)  Question not attempted

frfeaRad & & I 0T SUTeHT o1 STt om? (T o § Ser S99 forehed <)

(A)  TH =S (B) dRrams
(C) IRFA (D) T fE
(E) Srgaiaug

P12] © 15 [ P.T.O.



74  Match List-I with List-1I

List-I (Fair) List-II (Place)
a. Beneshwar L Karauli
b. Kaila Devi II.  Tonk
c. Jeen Mata III.  Dungarpur
d. Diggi Kalyanji IV. Sikar
=it -1 % gl -11 | gafor hifsg
et -1 (He) et 11 (FT)
a. LR L Fleft
b.  ShaTedt I 32w
c.  SforHmar . gy
d.  feuft semor s V. ¥

Choose the most appropriate answer from the options given below:

et foq T forshedl # @ waifares 3ug SR H =9 HIVT;

(A) a-ILb-ULc-I,d-1V B) a-Lb-ILc-III,d-IV
(©) a-1ILb-Lec-1V,d-1I (D) a-1V,b-1lLc-1L,d-1
(E)  Question not attempted / ﬂaﬁﬁﬁ Iq

75 was the first educational satellite launched by ISRO in the year
EECIRIIRERCED ISRO §WT a9 o BT T ol
(A) GSAT, 2010 (B) EDUSAT, 2004
(C) METSAT, 2010 (D) EDSAT, 2006

(E)  Question not attempted / 31'@'&?{ I
76  In a pedigree analysis it is observed that only male children are affected with the Haemophilia disease
because it is a/an:
(A) Autosomal recessive disorder (B)  Sex linked recessive disorder
(C) Autosomal dominant disorder (D) Sex linked dominant disorder

(E)  Question not attempted

FRTTCT Torsehuor # 2 <@ 7T @ fof haet TSk SThITeraT ThT § Hifed i &, Fifeh I8 -

(A) ATt st forerm & B) o aee aureh faewr ®
(C) At et fererm & (D) o aee v fasm @
(E) 3rgaid o

77  Which civilization is famous by the name Dhulkot or Tamravati Nagari? (Choose the most appropriate option
from below:)
(A) Aahad (B) Balathal
(C) Chandravati (D) Indus
(E)  Question not attempted

T Et TAAT GeAeRIE AT ATHET TR o6 A1 & Wfeg 82 (e § & wod Swen forhed o)

(A) TES (B) STt
(C) =gt (D) Ty
(E) 3IHaiayy

D
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78  Select the most incorrect statement from below about Kalibangan civilization.

(A)

(B)
©
(D)
(E)

The ancient Drishadvati and Sarasvati river valley (Present day Ghaggar riverine area) cradled the
civilization of Kalibangan.

This civilization is situated in Hanumangarh district of Rajasthan.

Kalibangan was a planned city, the sunbaked bricks were used to build houses.

No evidence of ploughed field has been found in Kalibangan.

Question not attempted

SIS YT & HeH § Gl 31T h ol II7 i

(A) T gugeT ST TEd! Tt STt (AT SR AT &4) 3 SIS sht T st 5= fem)
(B) I8 WWIQT TSTET o SFHIG Ioet H 16d 2
(C)  SHICHTSHTT Weh G-I JT&T o, Bl o (=Ai0T o fore oo o &t $21 sht Suaair fopsam Sfrar em
(D) SIS & S[ATS aTet & T b1 JHOT Tt firetr 2
(E) 3Tl o=
79  After the death of Rana Sanga, who became the ruler of Mewar? (Choose the most appropriate option from
below:)
(A) Rana Vikramaditya (B) Rana Ratan Singh
(C) Rana Uday Singh (D) Rana Amar Singh
(E)  Question not attempted
TOT | 261 G o TLTd HATS h Ik i ST (1 8 U wor Sugeh feorehed )
(A)  ToT fosrfee (B) T TaA fEw
(C) T3 fiig (D) Tom 3R fiE
(E) a9

80  Find missing number in given figure.

fe ST fer & o T Jma A

&5

(A) 191 (B) 261
(C) 181 (D) 291
(E)  Question not attempted / 33!'@'&?{ Iq
2 2
81 If o and B are the roots of the equation 3x> —13x+14=0, then what is the value of o +P ?
o
2 2
A 003 B T TR 327 — 13x+14 =0 h AT qeT &, T = +BB T A T 22
o
(A) 8 ®)
- 28
83 85
© o 2
(E)  Question not attempted / iﬂfﬁﬁﬁ Iq
82 frmfafaa & freeder o @fer foeesg 2
(A) T+ @) 3 +ardew
©) ¥ +rfw D) o+ erfs
(E) 3rgaid 9
P12 ] @ 17 [ P.T.O.



83  Which conclusion/conclusions would follow on the basis of given statements:
Statements:  Some Flats are Apartments.
No Apartment is a Hall.
Some Hall are Rooms.
Conclusions [: Atleast some Rooms are Flats.
II: No Apartment is a Room.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Only conclusion I follows (B)  Only conclusion II follows
(C) Both conclusions I and II follow (D) Neither conclusion I nor II follows
(E)  Question not attempted

! T T o o TR I AT TR, dTieheh &9 6 T T STTE0T LT 2l
AT FS RIE HIEHE 3
7S sTdiie g e
O T FAL
feel: LA FT S FR R D
I1: ohIS STUTHE HAT T 3
IUh T o TN H HTATEd el § 8 Haifarss 3ug o 9 :

(A) et Ry [ STTE0T LT 2 (B) et T+ 11 T80T T 2
(C) 3T ey [ S 1T 30T e (D) Tt kel 1 3R T & 11 T80T T 2
(E) Srgaiaug

84  In a certain code language if PHYSICS is coded as KSBHRXH, then how BIOLOGY can be coded in the
same language?

Ife PHYSICS ! fordl hifed 9T & KSBHRXH hi< foraT SITAT @ a1 39 i€ 99T H BIOLOGY 1 & forar

ST
(A) YSLOMTC (B) YRLOLTB
(C) YRMOMTB (D) YRLOLSB

(E)  Question not attempted / ?ﬂ@ﬁﬁﬁ el
85  Select the figure from amongst the answer figures which will continue the same series as established by the
given problem figures.
I SATHIGAT H | 3G TR HT =F HL S A TS T STHITAT GRT TEATTIT 20T 557 T I ST &k
Problem figures / I 311T=Fﬁl'qT

X #|C ®|S #|C X|e® *
S X ® S X
° C|# S|X CclZ JB C
5 (i) (iii) @iv) v)
C X C X
(A) > B) ¢
[ J # S
C 3 C
(©) . (D) .
* X * X

(E)  Question not attempted / ﬂfﬁﬁﬁ Iq
P12 ] @ 18 [ P.T.O.



86  Mathematical symbols are respresented by alphabets as shown below:
TTfOTelier forel ot e ST&R ST &RITe T 2, S e foam w2

—+ — X - = > <

B|G|E|C|D|A|F

Now identify the correct expression from the given options:

319 feu 7t foereat 9 @ w&t stfreaft o ==
(A) 18C 3D 6B 8C 4G 12 (B) 18A3E6B8G4B 12
(C) 18C 3G 6B 8B 4D 12 (D) 18F 3B 6E 8G 4E 12

(E)  Question not attempted / ﬂ@ﬁ'ﬁﬁ Iq

4840

87  Acircular park whose circumference is m has 10m wide path running around it (outside the park). What

22
is the area (in m2) of the path? (Use n= 7)

e TiretTeRT T ForeT a2y ?, 3G IR S (UTeh o aTeX) 10 Y. <7 TEaT 81 TEd 1 &b (H12 W)

7

w%?(nzg T SURIAT )

&) 2w ey B) o )
48400 52800
© —5 @) D) Tt @)

(E)  Question not attempted / \’ﬂflflﬁ_cf 99
88 In an election between two candidates 75% of the voters cast their votes, out of which 4% of the votes were
declared invalid. A candidate got 9,261 votes which were 75% of the total valid votes.
Find the total number of voters enrolled in that election.
2l AT 6 7e TATE H 75% HATATS! = 3T HaaH foa, S & 4% Ha 379 oTe 70| Teh Feam=i i 9,261
T STH BT S et o | T 75% & I8 AT oh et AT Tohel HAQTATA! bl AT 3T qaT o)
(A) 17,150 (B) 17,000
(©) 16,800 (D) 16,500
(E)  Question not attempted / H@ﬁﬁﬁ Iq
89  Which allotrope of carbon is a good conductor of electricity?
(A) Graphite (B) Diamond
(C) Fullerene (D) Coke
(E)  Question not attempted
TS T I |7 “STET” forega ol g o7

(A) TIEE (B) TR (SrHUE)
(C) R (D) I (=T SHITAT)
(E) 3Tl o=
90 A full length image of a distant tall building can always be seen by using :-
(A) aplane mirror (B) both concave as well as plane mirror
(C) convex mirror (D) concave mirror

(E)  Question not attempted

X Feoret e Jrelt SR T Q1 Wictforet Ferfotfiere T SURiT shteh SHRIT ST ST Wehl &:-

(A) GHdA g4 (B)  3Tadet 37T gHAA UIT ST
(C) A< gur (D) Tade guur
(E) 3rgaid 9

P12 | @ 19 [ P.T.O.



91  Which of the following Dams in Rajasthan is NOT on river Chambal?
(A) Gandhi Sagar Dam (B) Rana Pratap Sagar Dam
(C) Kota Barrage (D) Ramgarh Dam
(E)  Question not attempted

TseyH & frefefad aral § 8 i a1 sty oo 36 w76 22

(A) TR TR STe (B)  TIUI YaTq €WK &1
(C) HIRT (D) TG SY
(E) a9

92  “Mitigating poverty in western Rajasthan” (MPOWER) is being implemented with the help of -
(A) World Bank
(B) RBI
(C) Asian Development Bank
(D) IFAD (International Fund for Agricultural Develpment)
(E)  Question not attempted
O &Y TrSReT 8 TS ST (TH dTa) i feopwht weradn & forafara feparm s zer 22
A) fagss
(B) SR T, 318
(C) U SacuHe S
(D) 3. TF. T, El. (3TEIFA B B Tiehooial STIHT)
(E) Srgaiaug
93  In which year Rajasthan State Food & Civil Supplies Corporation was established?
TSTET TSF W T ARTHE ST T 3 SToET fohe a1y 4 g% o1
(A) 2010 (B) 2012
(C) 2011 (D) 2014
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
94 By the 44th Amendment Act which of the following fundamental right has been removed from the list of
fundamental rights?
(A) Right to Property (B) Right to Equality
(C) Right to Freedom (D) Right against exploitations
(E)  Question not attempted

443w sfefeem g frfofiaa & @ fore wifores stfierr it Hiforens stfererrl <t o=t & e foar mm 82

(A)  FIf T SARIRR (B)  THTAT & HATIFR
(C) EIdIdT ol JATTHR (D) U7 & faeg SAfwR
(E) 3rgaid 9

95  On which date RBI announced withdrawal of ¥ 2000 currency notes from circulation. (Choose the most
appropriate option from below:)
(A) April 16, 2020 (B) August 15,2021
(C) May 19,2023 (D) May31,2022
(E)  Question not attempted

ferer fetfer <t AT, oft, 3MTE. T % 2000 o LT I o FAR ki Teht <kl =0Tt bt off) (7t 9 Tt SHIeh feroheq

™)

(A) 3T 16, 2020 (B) 3T 15, 2021
(C) ™% 19,2023 (D) WS 31,2022
(E) Ffaia s

P12 | @ 20 [ P.T.O.



96  Where is the Indian Institute of Handloom Technology located in Rajasthan?
(A) Jaipur (B) Udaipur
(C)  Jodhpur (D) Bharatpur
(E)  Question not attempted

TSTEAT H IR SR (S-S STRfieh! §eaT et o feord 22

(A) SRR (B)  3&AR
(C) g (D) HWYX
(E) 3rgaid o

97  Under which scheme 3.25 crore accounts have been opened in Rajasthan up to September 2022?
(A) “Pradhan Mantri Jan — Dhan Yojana (PMIDY)”
(B) “Pradhan Mantri Jeevan Jyoti Bima Yojana (PMIJJIBY)”
(C) “Pradhan Mantri Suraksha Bima Yojana (PMSBY)”
(D) “Pradhan Mantri Mudra Yojana (PMMY)”
(E)  Question not attempted

forer AT o qed TSTeu § fAawa 2022 @& 3.25 IS @I @iet ST ok 82

(A)  “TIHHAT SFER FSET’ (PMIDY) (B)  “YamHAT Sfte safa sfwr TS (PMIIBY)
(C)  “SaTwHT gee ST AT (PMSBY) (D) T GET ASET (PMMY)
(E) aid 9

98  Where is Rajiv Gandhi Fintech Digital Institute to be established in Rajasthan? (Choose the most appropriate
option from below:)
(A) Jodhpur (B) Udaipur
(C) Jaisalmer (D) Jalore
(E)  Question not attempted

Tsiia Tieft fpeen fefSeet $edieae Usteum # shat wufia foram ST 22 (it o & wodr S forehed <)

(A) STER (B) 3R
(C) TR (D) SR
(E) rfaiaws
99  Which of the following will sink in water?
(A) Kerosene (B) A ball of stainless steel
(C) Empty plastic bottle with closed lid (D) A wooden stick
(E)  Question not attempted
Freaferiae & & i T & gt S
(A)  FfEa (B) TG W I g
(C) o< Gaeh dTcil TATIEeh ehl W@Teft shidel (D) U el il ATt
(E) 3rgaid 9
100 The non-metal which is used for making electrodes and is also a good conductor of electricity is :
(A) Sulphur (B) Iron
(C)  Graphite (D) Nitrogen

(E)  Question not attempted

frfcaRad o & I A1 STTq SoiFe IS S o oI ST forarm SITaT & ST ST fored 1 geierh ft 8 2

(A) HTH (B) r&r
(C) W (D) ATEZRH
(E) Srfaiays

P12 | @ 21 [ P.T.O.



101

102

103

104

105

106

Choose the most appropriate option to fill in the blanks.

Mr. Mehra called while you were out. He wants to make complaint about
article in the paper. He wasin ___ very bad temper.
(A) A,aan,a (B) x,an, an, an
(C) A, a, the,a (D) A, x, an, the

(E)  Question not attempted
Choose the most appropriate option to fill in the blanks -

I can’t do this job alone. Ineed  to help me; in fact will do, as I just need to
assist me.

(A) nobody, noone, anyone (B) anything, nobody, anybody

(C) somebody, anyone, someone (D) anybody, nobody, anyone

(E)  Question not attempted

Choose the most appropriate option to complete the sentence;

The full form of DO letter in administrative or official communication is
(A) Demi official (B) Direct official
(C) Do Open (D) Dare open
(E)  Question not attempted

Fill in the blank choosing the most appropriate option :

He succeded in life his physical disabilities.
(A) incase of (B) but for
(C) inthe event of (D) in spite of

(E)  Question not attempted

Choose the most appropriate word to complete the sentence given.

For once all the committee members agree one another.
(A) to (B) in
(C) with (D) for

(E)  Question not attempted
Five students participated in a scholarship examination. Suman scored more than Preeti. Komal scored less

than Sunita but more than Suman. Mansi’s score is between Preeti and Suman. Who scored least in the

examination?
(A) Suman (B) Mansi
(C) Preeti (D) Komal

(E)  Question not attempted

e BT 3 ST we 7 few form e st & s1feres sien firel smet o AT & o 37 W g At O
YO o ST & AT Te| AT i it T G ST STH 3Thi o Wed 37k T, oierT o ward & 33 fohdl e
Bqq?

o

(A) gu (B) HHHT
(C) Wit (D) w®HEA
(E) Srfaiays

P12 | @ 22 [ P.T.O.



107 Eight persons L, M, N, P, Q, R, S and T are sitting around a round table conference facing the centre.
I. R sits between L and S
II. S, who is the neighbour of Q, sits third to the right of T
III. Q sits second to the right of T.
IV. M sits third to the left of R
Then who is sitting at immediate right of M?
A HARE L, M, N, P, Q, R, S Td T T TIICITHT H31 % =T S AFITH H 9 ohl 3T T ek 33 T
LR LT SHATHITE]
1. S, Q % FTA H T o SIeT T TATEX T I AT 2
1L Q,T 3 3Tfert T GEX FaI W 37 2
IV. M, R & ST o offed Fa8 W 3T 2

T M & ST § i aTfed 3T 3T 22
(A) R B) Q
€ L (D) P

(E)  Question not attempted / \’ﬂflflﬁ_rf Iq
108 Ashok walks 4m towards north. He turns to his right and covers a distance of 12m and after that he turns to
his left and covers a distance of 12m. The shortest distance between starting point and end point is:
(A) 23m (B) 28m
(C) 25m (D) 20m
(E)  Question not attempted
3R ITL hT T 4 HIS =TT 8| T: T8 STfeT 3R qSHh 12 Hiet qoh werdT ¢ 3 36 18 9 o1 ot 3717
ST 8 S 12 Hiet 3l G ok =IerdT 21 ST shi SR feig & 31q 7ok At Feheaw gl o1 oaT o

(A) 23HIX (B) 287
(C) 25HIeX (D) 20 HIX
(E) a9

109 Which of the given option, will complete the given series?
SR R et & T €1 et g RO
aabc _bca b _a bc
(A) aabca (B) aacba
(C) abaac (D) aaaca

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
P12 ] @ 23 [ P.T.O.



110 Match List-I with List-IT

List-I (Right) List-IT (Related to)
a. Right to Equality L Protection of life and personal liberty
b. Right to Freedom II.  Prohibition of human trafficking and
forced labour
C. Cultural and educational rights II.  Abolition of titles except military and academics
d. Right against exploitation IV. Right of minorities to establish and administer

educational institutions

gt -1 ol =i -11 | gaford shifsre ;

Tet-1 (AT R) Fe-11 (Fafead B)

a.  GHAT T SATTHR I e SR SAfwTa T sht geam

b.  TIAAAT T ATHR I AT qER 3R ToRT 99 W s

c.  Uithfaes I eaforek Tferm . &= ST Seafuren STt i Siest 3=
ST 3BT 3

d.  INT o faeg TR IV. STCUEETeh ohl QN&TI0Teh HEATH T iy TR
STHT TITET LA T SATTRR

Choose the most appropriate answer from the options given below:
et foq T forshedt 7 @ waifares 3ug SO’ = HifV;
(A) a-I,b-I,c-1I,d-1IV B) a-ILb-IV,c-Ld-1III
(C©) a-IV,b-ILc-I,d-1I (D) a-ILb-Lc-IV,d-1I
(E)  Question not attempted / aﬂﬁﬁﬁ 99
111  Who was the State Election Commissioner of Rajasthan as in August 2024?
(A) Inderjit Khanna (B) A.K.Pandey
(C) Madhukar Gupta (D) Prem Singh Mehra
(E)  Question not attempted
IATE 2024 H TSR o T3 e g i 42

(A)  FESIdEAT (B) T U
(C) HIHUTHT (D) m R OEw
(E) 3rgaid o

112 Which of the following is a second generation computer?
frrferfiaa & & 7 9T qut / YehUS SR T FHFRET 27
(A) IBM 4341 (B) ENIAC
(C) IBM 7030 (D) IBM Notebook
(E)  Question not attempted / ﬂaﬁﬁﬁ il
113 Which of the following became the first state to adopt a road safety action plan?
(A) Maharashtra (B) Rajasthan
(C) Gujarat (D) Madhya Pradesh
(E)  Question not attempted

frfcaRad & & 9 A1 T3 wge GUall Rl AISHT ST AT T2 TS 512

(A) HERTSE (B) TS®IH
(C) TS (D) | eI
(E) Srfaiayy
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114 When a ray of light travels from the denser to rarer medium:-
(A) it bends away from the normal. (B) it bends towards the normal.
(C) it goes straight. (D) it comes back in the same medium.

(E)  Question not attempted
STl JhTST ohY ek foror g Aream 9 foet Aream 8 STt 2:-

(A) € ATt U gL S ST 2l (B) IT AT i AR TS STl 2
(C) =g Hieft fehet STt 21 (D) o2 36 HTea § TaE 37 STt 2
(E) raid 9

115 Focal length of a concave lens is 50 cm. Its power will be :-
@Wﬁv‘q@mﬁwaﬁso cm g SThT GFHaT B -
(A) -2D (B) +2D
(¢ -5D (D) +5D
(E)  Question not attempted / ﬂ@ﬁﬁﬁ 99
116 Two identical lamps L, and L, are connected in an AC circuit as shown, then -

aﬁmWLIGLZGWWﬁWﬁ%Gﬁiw-
W

-
100mH  @L,
()
N
200V, 50 Hz

(A) Both lamps glow equally bright (ﬁwwmiﬁ)
(B) L, glows brighter than L, (L, dT SeTST 471 L, &)
(C) L, glows brighter than L, (L, S SeTeT 7T L, &)
(D) L, doesnot glow (L, EEANE K1)
(E)  Question not attempted / ?ﬂgﬁ'ﬁﬁ I9q
117 Fe, 0, +3CO —> 2Fe +3CO,

In the above chemical reaction, the reducing agent is :-

T & e g AR § ST B:-
(A) F6203 (B) CO
(C) Fe D) CO;

(E)  Question not attempted / aﬂﬁﬁﬁ Iq
118 Which of the following is not the characteristic of a physical change?
(A) New substance is formed.
(B) This change is temporary.
(C) On removing the cause of change, it is reversed.
(D) Only physical properties of substances like state color, smell etc. change.

(E)  Question not attempted

frfafed & & & Ht «ifien aftad st fererrar 72 &

(A) T ere s fmior grar )

(B)  uftad sreurht grr 2]

(C)  ufad o Tl RN T 8H W, FE Fidardd &l SITaT &l

(D) e UaTt o ¥iiforen Uit S fop atarea, 4T, e gefe o aftad S 2
(E) 3rgaid 9
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120

121

122

123

124

2H,0, Glycerol

2H,0 + 0,
In the above chemical reaction glycerol is a :
(A) Positive catalyst (B) Negative Catalyst
(C) Auto catalyst (D) Bio catalyst
(E)  Question not attempted
e

2H,0, ———2H,0+0,

UL &1 7T e sttt § faede 2

(A)  EFTH 3CH (B)  SHUITCH 3

(C) Td: IAH (D) I 3RH

(E) 3rgaid 9

From the top of a 216 m high cliff, the angle of depression of the top and bottom of a tower are 30° and 60°
respectively. Find the height of the tower.

216 H. Seft =2 o I & Ueh SFa 3 ¥ 37T qel % STEH RIV SHA: 30° 37 60° ) T T S 1
(A) 135m (HT) (B) 140 m (¥t

(C) 142m (dt) (D) 144 m ()

(E)  Question not attempted / ﬂ@ﬁ'ﬁﬁ I4q

How many triangles are there in the given figure?

e & ety foha gt &2
(A) 10 (B) 11
© 12 (D) 15

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

The value of cot 15° - cot 20° - cot 45° « cot 70° - cot 75° is :

cot 15° -+ cot 20° - cot 45° « cot 70° - cot 75° T HM &:

(A 0 B) 1

© 2 D) 2

(E)  Question not attempted / aa?lﬁﬁ Iq

Following four numeral pairs are given. Out of these, three are alike in a certain way but one is different.
Choose the one which is different from the rest three.

frrfetfiae =m eeameres Sie fow &) 5 & i e Tohr & wHTH & ifehe Toh fire B Seeht 57 ST 371 o
CARC

(A) 42,252 (B) 24,144

(C) 34,204 (D) 26,182

(E)  Question not attempted / ﬂﬂﬁﬁﬁ B

Find out the incorrect term in the given sequence

= flRu T oA 4 O TeTd §EAT S 98

987, 906, 842, 792, 757, 732, 716

(A) 906 (B) 842
C) 792 D) 757

(E)  Question not attempted / ﬂ@ﬁﬁﬁ 99

P12 | @ 26 [ P.T.O.



125 What was the theme of ‘“World Sight Day, 2023°?
(A) Colour blindness (B) Night-blindness
(C) Donate your eyes (D) Love your eyes at work
(E)  Question not attempted
T gfe faaw, 2023 &t ot (forwer) = off2
(A) U (ol SATESAT)
(B) T (752 sciize )
(C) 39 9 T & (SHS TN 3TE)
(D) oM I THT 7Y I3 o TR T S T (A AR TS TS Fh)

(E) orpaiaug

126 'Who among the following won the silver medal at the 6th Asian Trampoline Gymnastics Championship?
(A) Rucha Divekar (B) Kalpana Debnath
(C)  Srishti Khandagale (D) Dipa Karmakar

(E)  Question not attempted

QWWWWﬁﬁQﬁQWWW(SHVﬂ medal ) SfdT 912

(A) =T et (B)  heUHT ST
(C) gfE @ (D)  <iuT FHHTHT
(E) 3rgaid o
127 Country’s first underwater metro line was inaugurated by India’s Prime Minister in which city?
(A) Mumbai (B) Delhi
(C) Kolkata (D) Kochi

(E)  Question not attempted
ARG o T GRT <7 T IRt STSTETe Bl ATET T 351 fohd et 7 foram mar 9me

(A) HE (B) faeht
(C)  hIcTehTar (D) =T
(E) 3rgaid o

128 What is the theme for ‘National Science Day 2024°?
(A) Indigenous Technology for Future India
(B) International Technologies for Viksit Bharat
(C) Indigenous Technology for Atmanirbhar Bharat
(D) Indigenous Technologies for Viksit Bharat
(E)  Question not attempted

Tty o fea@-2024° o famar / oftm s/ 22

(A) Tt WA o o et Srenfirehl/qerien (Sfefstiae Saietistt R W= sfeam)

(B) Torhfra wra o forw siawsdar Tienfirehl/aerich (3Tt SHISIST %I foehferd W)
(C)  ITrerfft v o T 3wt Menfirehl/aeier (Sfefaae amiers B R strentait 9ra)
(D) forrfra e o fore <t senfirshl/denfteh ((Efefairae TS B faesfea ar)

(E) 3Tl o1
129 Keoladeo Ghana National Park is located in which place?
(A) Bundi (B) Bharatpur
(C) Dholpur (D) Sawai Madhopur
(E)  Question not attempted
FAATT IHT TSI ST el Lord 27
(A) & (B) AR
(C) iR (D) e /THI
(E) 3raid 9
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130 At the time of freedom how many Riyasats were there in today’s Rajasthan? (Choose the most appropriate
option from below:)
SATSTET o THY SIS oh TSTEAT H febet Feamerd oft? (et o 9 wor Sugrh forehed <)
(A) 15 B) 17
<© 19 (D) 21
(E)  Question not attempted / \’ﬂflflﬁ_cf 99
131 What was the ancient name of Jaisalmer?

(A) Maru (B) Maran
(C) Mand (D) Dhad
(E)  Question not attempted
STETHL 3T ST 79 3RT 91?2
(A) He B) HE
(C) wiE D) g
(E) Srfaiays
132 In the genre of Rajasthani prose and poetry the works which throw light on the achievements and incidents
of a particular individual and dynasty are called . (Choose the most appropriate option from
below:)
(A) Veli (B) Vachnika
(C) Prakas (D) Vigat

(E)  Question not attempted
wwﬁwﬁtwaﬁﬁmﬁﬁémﬁﬁ%ﬂ%ﬁwr@aﬁm@mﬁmmmi

e o (FH 3 & Ferdl ST forehed )

(A) At (B) adfehT
(C) Y (D) fama
(E) a9
133 According to the census 2011, which of the following districts has lowest literacy rate in Rajasthan ?
(A) Jalore (B) Udaipur
(C) Bikaner (D) Jaipur

(E)  Question not attempted

2011 T SFRTOAT o STTET, Ffaiad # & Tsrem o fore fofer 7 STarar o aed &1 2

(A) SR (B) 3R
(€) i (D) SR
(E) a9

134 Given below are two statements:
Statement (I): Black soil is found in Kota, Bundi, Baran and Jhalawar districts of Rajasthan.
Statement (II): Black soil contains enough quantity of Nitrogen but lacks in Calcium.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are true.
(B) Both Statement (I) and Statement (II) are false.
(C) Statement (I) is true but Statement (II) is false.
(D) Statement (I) is false but Statement (II) is true.
(E)  Question not attempted

fadr e faumud

U - 1 : il ! TSR o whieT, S(af, SIRT STR FraraTs et # T8 St 2
Fo - 11 : Wﬁﬁﬁ@mﬁmwﬁ%ﬁr%wﬁwaﬁw%ﬁ%
mm%mﬁﬁwﬁdﬁaﬁﬁﬁﬁﬁaﬁwmwaﬁ

(A) o 1 3T A Eer 8 (B) e [ 3T 11 2T sr@en &)
(C) wMITEe, fFqFmIsmat] (D) FA 130 2, o] o A B
(E) Srfaiays
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135 Select the most incorrect statement about Salar Forest
(A) Salar forests are also found in hilly areas of Rajasthan.
(B) These forests are named Salar forests due to the abundance of Salar trees
(C) Dhok Kathira and Dhawad are among the chief trees of Salar forest.
(D) Teak tree is abundantly found exclusively in Salar forest.
(E)  Question not attempted
TR 3 o TN § Fod 3TEc o T = il
(A) HIAIR 9 TSI o UETet & 7 off ure 9 2]
(B) TR Jefi shY ST o ShIROT 3 ST bl |T o AT fo=iT Tram 2
(C) @/ T (Dhok Kathira) 3 998 (Dhawad) ¥R & Y@ & &
(D) e fore & & Fh |ETR a1 & S A1 & 9T ST aTett ge 2
(E) 3raid 9
136 A certain sum of money amounts to ¥ 2,286 in 3 years and ¥ 2,448 in 4 years at simple interest.
What is the rate of interest per annum?
HTSITT 1T sh 3T & Wb ff3re TR 3 ot & € 2,286 T 4 T H T 2,448 BT STl 21 ST <6t ATfveh o 7 22
(A) 8% B) 9%
©) 10% D) 11%
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
137 A certain sum of money is divided between Ajay and Chirag in the ratio 7:6 . If half of Ajay’s share is I 850
less than Chirag’s total share, what was the sum of money?

o1 <t foreft fafra wftr ot s1srer et formr S wrer 7:6 9 spama & forsmrfrer foam wrem arf avorer 3 foedy ot atmer femmr

o et ol | X 850 3 &1, a1 i T e off?
(A) %4320 (B) 4,200
(C) T 4,400 (D) %4420

(E)  Question not attempted / ?ﬂgf‘liiﬂ Iq
138 A motorcycle wheel makes 5,000 revolutions to cover a distance of 11 km. The diameter of the wheel (in

cm) is:
(A) 56cm (B) 70cm
(C) 84cm (D) 100 cm

(E)  Question not attempted

T HICTETSIoha 1 afedT 11 forcimiet bt g @ et & 5,000 TRERwOT TTaT 81 afee &1 e (@ ) 2

(A) 56TH (B) 709
(C) s4udl (D) 100 &H
(E) Srgaiaug

139 Which of the following is not a fibre yielding plant?
(A) Sun hemp (B) Cotton
(C) Khejri (D) Coconut
(E)  Question not attempted
oo & & 1 o1 @ ScdTee ey T 27
(A) TS (67 ) (B) U™
©) T (D) et
(E) Srfaiayy
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140  Which of the following statement is incorrect?
(A) Nitrogen gas makes up 78% of Earth’s atmosphere.
(B) Only few form of bacteria are able to convert the inert nitrogen into nitrates and nitrites.
(C) During lightning, the low temperatures and pressures created in air, convert nitrogen into oxides of
nitrogen.
(D) Nitrogen oxides dissolves in water to give nitric and nitrous acids and fall on land with rain.

(E)  Question not attempted

frefefiad & & 7 |1 e 318 82

(A) TSN T qet & AIHSA I 78% W ST &)

(B)  STSITULAT % At 5 TohTX & SThT ATSZISH ohl T39I 153 H INETId o e 8

(C) Torctett =rweht / Tt o SR, A # MR 8 aITel W T9HT 3T T ATSZISH ol ATSgIe o HATadTger §

gftafda 2 3 2
(D) SIS SATHETEE ST H FeTeh AT31eeh ST AT5gH 3 ST & ST st oh &rer i o At )
(E) 3rgaid o

141 Whatis the percentage of Reservation for women in Panchayati Raj system in the State of Rajasthan? (Choose
the most appropriate option from below:)
TSTET TS W TETRI TSt el H HiGeATl o foTg STRaToT oh NTamTa fordT &2 (F # & Herdt 39 farehed 1)
(A)  50% B) 33%
(©) 40% D) 45%
(E)  Question not attempted / aﬂﬁﬁﬁ B

142 What is the main obstacle in agricultural development of Rajasthan?

(A) Lack of land reforms (B) Lack of irrigation facilities

(C) Limited availability of fertilizers (D) Irregularity and uncertainty of rains
(E)  Question not attempted

TSTEAT o Y forehred H Har 7 e 7 &2

(A) W gar R e (B) TH=E glaarst 1 s

(C)  SoHhT ST Hifira Suctserar (D) Tt &t AT R SAffdar
(E) 3rgaid o

143 In which of the following year demonetisation of currency was declared by Indian Government?
TR T G o H & Tohe o # 73T o forsientor ot oo o6t 17 off?
(A) 2016 (B) 2017
(C) 2018 (D) 2019
(E)  Question not attempted / 31'@'&?[ il
144 Which of the following is the largest tributary of Indus river?
(A) Ravi (B) Chenab
(C) Beas (D) Satlyj
(E)  Question not attempted

freaferfaa & & fify 72t 6t ger o<t weme T4 Fi 22

(A) Tt (B) =9
(C) =& (D) waqs
(E) Srfaiays
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146

147

148

149

150

Which of the following mountain ranges is associated with Himalayan Mountain range?
(A) Satpura (B) Ajanta

(C)  Shivalik (D) Vindhya

(E)  Question not attempted

frfafiaad & & &9 € vald 2RaaT feHTer veid siaet § Heifed &2

(A) HageT (B) =T

(C) faranfasw (D) faeem

(E) raid 9

Karewa formation is useful for which of the following crop? (Choose the most appropriate option from
below:)

(A) Rice (B) Zafran

(C) Wheat (D) Tea

(E)  Question not attempted

e fmtor frforfiaa o @ fore ot o fore Swaeft 82 (Fre o & oo 3w forehed <)

(A) =T (B)  SITH{H/HER
©) T (D) =™
(E) a9
TeueRR TS H ffed suert &-
(A) @R B) ufa
(C) 3R (D) ¥
(E) rgaid 9
YT 3168 H Ih T B-
(A) 3T (B)
(C) = D) fa
(E)  3Taiea o=
frefafaa & <s1f & vt -
a. %El%h_g b. Iy
C. qrad d. E2UR
€. PIEEY
e fow o forehedt § & afferes Suge ST 1 = HINT
(A) Fac a, b 3T e (B) wadb,c3Me
(C) waADb, c 3 d (D) wada,d3MWe
(E) rJaid 9
freafafea & @ fag o foadamds wes 2-
(A) T (B) T
(C) forarg (D) W
(E) Iafays

N
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